1.  (3a+b)+ (2a - 3b) = 7+H3] 51H?

D 5a+4b @ 5a-2b ® 5a—4b

@ —5a—2b B —5ag -+ 4b



(Ax?> =3x+1) = (—x* + Bx +4) = 3x> + 2x + C A A,B,C 9] 3=
217k 9 g ALY

® A=2,B=-1,C=3 @ A=4,B=-1,C=5
® A=4,B=-5C=-5 @® A=2B=5,C=3

® A=2.B=-5C=-3



AAFESA -1 <3x-3 9 s&=?

@ x>2 ® x<1






5. e F ARy = —x+39 1 919 Ho] ofd A2



@ =
A
. 1, 2, 4 A2
2, 3, 4 /\]-\_Eﬂ
|=]
@ il

g
iz

@)
A1, 2 3
, 3 Ak

® &
Al
1, 3, 4 A
=]
il

®
Al 2. 4 AF
’EH__

B!



7. T 23440.04+0.16 2 BF2A AASHA?

@D 0.920 ® 0.206 3 0.21 @ 0.216 3 0.220



8. THe % AN AT LA Wiz e shber

@ (2%)% =22 @ (22)3x22
@ 2¢x 2 @ 8%+ 8%+ 82 482

® 42(22 4 22)



9 ot
b4
)3
X
a3
b2
+ (ab®)
2
Kol
=4
‘_6] 6]
o]—‘:q
H9

@®
aSp!
0
)
a’b®
®
al0p!
6

@
all
b5
©)
aldh
8



10. —6§x<2%_’Uﬂ,A<1—gsBE’ri’§l'E]-. oluf, B~ A 9] ge?

@D o @1 3 2 @ 3 ® 4



11.

O] o7} ZFZY xem, (x+ 2)em, (x+ 5)em @ o, x 2

@ x>2 B3 x>3 @ x<?2 B x<3



2% (a, a+1) ©] 5x—2y+8

s
L

12.

B 2

@ 1



x 9] gkol y o] gt 3

=L
st

= ulx
=2 -

2x-by=a-1
dx-2y=a+9

|

|
S
i o, &4 a o Bt

SEREE

?

O
—



14.

ZFotA] x mt2|et &y utE

@ste] 8 mhal 7t oot o] o] 2o &

22 70 o, x, y ol Bt AHYAA 2= UERHH?

@

x+y=38
2x + 4y =22
x+y=38
2x — 4y = 22
x+y=38
dx -2y =22

@

x+y=38
dx + 4y = 22
x+y=28
4x 42y =22

ol
ol
e)



@ 3 3 6 @ 8 ® 15

@D 2



16. = HESA2x+3<3x,5x+1>6x—ad FTEN7T EAT A, A5

a o1 ge] W9

D a<?2 @ a>?2 B a<3 @ a<3 B a>3



17.

SAES o=t ek wie A4 2km, WE-E T A4 3km 2 A o]
Stch, @ km A 7HA]

A A Aels AR 3ARE ol = sh AL
ST = ed ==

=2

® 3.3km @ 3.4km ® 3.5km

@ 3.6km 3 3.7km



=4
o] |7} A5
dx+6y =a of a7t EAotA] & o, k& F a9
%;EO]%_/'\_%;-\]%Q

3 10



19. o5 O™ B 717 22 7 79 7tEE 204 =47 68 <
ZAHZEe ABCD € WHEth 71E g F o] 7t2 et Alzo] dol&
Yz x,y Sl E o, x, yo] 3 =Y

A D
B C
® x=4,y=10 @ x=57y=9 @ x=6,y=10

@ x=5y=8 ® x=4,y=9



20. f(x) =x+2a°1A £(3) =1L W, £(-1) + f(4) ] ZE2?

D 0 ® 3 3 1 @® -3 B -1



